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Questions 12 (1 Mark), 3:5 (2 Marks), 6-15 (3 Marks), 1621 (5 Marks), 2227 2 Marks) |~ o

1. What does the high level of total coliform count in river Ganga indicate?

2. Define the principal focus of a concave mirror.

3. Give reasons for the following:

(a) Generally metals are not found in free state
(b) Metals are good conductors of heat.

4. A person needs a lens of power +2.5 dioptres for correcting his vision. Name the defect of vision he
is suffering from. Which type of lens will he be using for the correcting the defect? Also, find the focal
length of Jens.

5. State Flemming’s left hand rule.

6. How is the amount of urine produced in human regulated?

7. What are the changes seen in girls at the time of puberty?

8. What are the methods used by the plants to get rid of excretory products?

9. State one reason for the following:

(a) Potato chips manufacturers usually flush bags of chips with nitrogen gas.
(b) Tron articles lose their shine gradually.
() Foods should be kept in airtight containers.
10. Explain with a suitable example the metal use 10 reduce the following:
(a) Onides of less reactive metals.
(b) Onides of moderately reactive metals.
(€) Oxides of highly reactive metal.
11, Tooth cnamel is the hardest substance in our body.
() Name the compound it is made up of.
(b) At what pH of the mouth does it gets corroded?
(¢) State the role of bacteria in the mouth. Suggest a method to prevent tooth decay.
or
() Write the chemical name of Na,CO, . 10H,0 and Na,CO,.
- (5) Write the significance of 10H,0 in the substance.
(¢) Mention the term used for water molecules attached with the salt.
12. What is the importance of DNA copying in reproduction”

Sample Papers 7

-



[image: image2.jpg]=131

15.

16.

17.

18.

19.
20.

Although solar cooker has many advantages, yet not many families use solar cooker for cooking food.
However, it is very good to know that solar water heater is been widely used in India. Kapil was feeling
proud after installation of solar water heater on his roof top. He knows that he has contributed towards
the conservation of environment. Now, answer the following questions:

(a) Write one advantage and one limitation of using a solar water heater.

(b) How has Kapil contributed towards the conservation of environment?
" (c) State the values that prompted Kapil’s action.
14.

(a) What is an ecosystem? List its two main components.
(b) We do not clean ponds or lakes but an aquarium needs to be cleaned regularly. Explain.

The value of current I flowing in a given resistor for the corresponding values of potentialxdifference
V across the resistor are given below:

1 (ampere) 0.5 1.0 - 2.0 3.0 4.0

V (volt) 1.6 3.4 6.7 10.2 13.2

Plot a graph between V and I and calculate the resistance of the resistor.
Or

A coil of insulated copper wire is connected to a galvanometer. What would happen if bar magnet is

(a) pushed into the coil (b) withdrawn from inside the coil (c) held stationary inside the coil.

(a) Why do we classify elements?

(b) What were the two criteria used by Mendeleev in creating his periodic table?

(c) Why did Mendeleev leave some gaps in his Periodic table?

(d) In Mendeleev’s Periodic Table, why was there no mention of Nobel gases like Helium, Neon and
Argon?

(¢) Would you place the two isotopes of chlorine, C1-35 and CI-37 in different slots because of their

different atomic masses or in the same slot because their chemical properties are the same? Justify
your answer. ’

Both soap and detergent are some type of salts. What is the difference between them? Describe in

brief the cleansing action of soap. Why do soaps not form lather in hard water? List two problems
that arise due to the use of detergents instead of soaps.

Suppose an erect image of an object has to be obtained using a concave mirror of focal length 15 cm.
What should be the range of distance of the object from the mirror? What is the nature of the image? |
Is the image larger or smaller than the object? Draw a ray diagram to show the image formation in

this case.

Draw the structure of a neuron and explain its structure and function.

A 14-year old is not able to see clearly the questions written on the blackboard placed at a distance

of 5 cm from him.

(a) Name the defect of vision he is suffering from.

(b) With the help of a labeled ray diagrams show how this defect can be corrected.
(¢) Name the type of lens used to correct this defect
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[image: image3.jpg]’ . (a) Draw a sectional view of human female reproductive system and label the parts where: -

- ey eggs develop.
. = (if) fertilization takes place
(iit) fertilized egg gets implanted.
(b) Describe, in brief, the changes that the uterus undergoes:
7 (i) to receive the zygote
(i) if zygote is not formed.
: Or
(a) Distiguish between pollination and fertilization. Mention the site and product of fertilisation in
’ the flower.
> ~ (b) Draw a neat diagram of a pistil showing pollen tube growth and its entry into the ovule.
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SECTION-B

22. What are bases? How does a base like Sodium hydroxide react with zinc?
23. Which of the following pair will show displacement reaction and why?
(@) FeSO, and Copper metal
| (b) FeSO, and Aluminium metal.

24 Draw a circuit diagram to show three resistors connected in parallel with a cell and a key. Write formula
for the equivalent resistance R of this combination if the individual resistances of the resistors are R1,
.. R,and R,
25. In an experiment to study the relation between the potential difference across a resistor and the current
through passing it, a student recorded the following observations.

| Potential difference, V (in volts) 1.0 22 3.0 40 - 64

Current, I (In amperes) SE RS /Y bl ik YILRC B 0.6

 On examining the above observations, the teacher asked the students to reject one set of readings as
the values did not satisfy the conditions with the rest. Which one of the above sets of readmgs can be

{rejected? Calculate the mean value of resistance of the resistor based on the remaining four sets of

- readings.
26. Give various steps of budding in yeast.
_27. Write the various steps of observing a leaf peel slide under a microscope.

Sample Papers





[image: image4.jpg]SAMPLE Paper 1 [Easy Concept]

Time Allowed : 3 hrs. Maximum Marks : 80

Questions 12 (1 Mark), 3:5 (2 Marks), 6-15 (3 Marks), 1621 (5 Marks), 2227 2 Marks) |~ o

1. What does the high level of total coliform count in river Ganga indicate?

2. Define the principal focus of a concave mirror.

3. Give reasons for the following:
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10. Explain with a suitable example the metal use 10 reduce the following:
(a) Onides of less reactive metals.
(b) Onides of moderately reactive metals.
(€) Oxides of highly reactive metal.
11, Tooth cnamel is the hardest substance in our body.
() Name the compound it is made up of.
(b) At what pH of the mouth does it gets corroded?
(¢) State the role of bacteria in the mouth. Suggest a method to prevent tooth decay.
or
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